Bilz o= =Pl Bk 5 =Pl Fi9H

[1:{iva R4 B R B PARA K4 2| 88 B R4 K4 ¥ B5R
1 #af=f 116.300 1|ENfE ARG | KHE 28 | 2 | 13.050 1 = FEHE Xk | 2| 14550
2 |HIER BIZERES 100.250 2|4 =5 thH EK | 1 12950 2 | Mamzd | fH KR | 1] 14100
3 R gkFrh 91.650 348 = RO % | 2 | 12.650 3 |ENfE wmOES| KH @ | 2 | 13.300
4 g EEH 72.350 3t Bt $ARK B | 1| 12650 4 | ENFE ENTER | A HAY | 1| 13.150
5 % U= 38.450 5|FNf%E ENFER | #2AF HHY | 1| 12,600 4 |BRHEEHEH BF OB | 2 | 13.150
6 miEE mREEs | A RRIE | 2 | 12500 6 | HESFH | K BHE 1 ]12700
7/840 de&Bp | LR BEXE | 2| 12400 7| M#EIH | RO BE | 2| 12400
8|MAF MMF—dh| FE #IRF | 1 | 12.300 7 |AF FZd| F WIREF | 1| 12400
BARE Bl BEVVEITHE B [oFa)
[l:{iva ERA K4 ¥ 7§ K IEG  PARA K4 ¥ 85R Bz R4 K4 ¥ BR
1 |f8 = FH ¥R | 1| 41250 1| MAmE=d | RO HBE | 2 | 13650 1| #AZd | BH ¥R | 1] 14200
2 ENfE BwORG AH 128 | 2 | 40.400 2 | MAm=F | FH ¥R | 1] 12850 2 HNfE @GRS KB 128 | 2 | 14.050
3 #afa= RO ¥Z | 2 | 38550 3 |ENfE BwORS| KH 12/ | 2 | 12.200 3| #MM=H | RO ¥»E | 2 | 13,500
4 4 EBH $hK = | 1| 38.100 4 | MW= | FEHE Xk | 2| 11.400 4 | HEBH | K BE | 1] 12750
5 ENfE ENFEeh W HMY | 1| 37.950 5 | ENf& ENFaeE | 2IF HMY | 1| 11.350 5| fam=f | HS &M | 1| 12650
6 EEH TEHAH H& DF | 2 | 37.300 6 |miEz mEEke| HA FRIE | 2 | 11.300 6 | fAf=F | £F F4£ | 1| 12400
7 MF WEZh = #W¥E 1| 36.850 7 |Bxwm BsHEs) HF DI | 2 | 10.300 6 |TxHBEHEHA| BHMN LI | 2 | 12.400
8 |48 = HE [BE 1| 36.150 8 |WAF MMF_f| = #¥F | 1| 10.100 8 | FNGE ENTE | #AF HHY | 1 | 12.200
9 BEH RHKEHAH TH & 1| 36.000
10 m)IliER BINFERS oA MM | 2 | 35850




